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& Az & 4 OUT | IN |TOTAL| HDCP NET
B B AN R 38 | 38 | 76 10 66
AN HFE B 40 | 34 | 74 4 70
3 fir HH HA 42 | 39 81 11 70
4 {ir LI B = 40 | 42 | 82 12 70
5 fiL FEIR 723 40 | 40 | 80 9 71
B-G HFE B 40 | 34 | 74
OH #E—HBIM AR & £
T — KT ADE

& Az & 4 OUT | IN |TOTAL| HDCP NET
B B A F584 37 | 35 | 72 5 67
HERR )11 2LiA 37 | 40 | 77 7 70
3 fir HH 5L 39 | 43 | 82 12 70
4 fif KA ¥ 43 | 41 | 84 13 71
5 fif YT 41 | 43 | 84 | 12 72
B-G A F5 37 | 35 | 72
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& Az & 4 OUT | IN |TOTAL| HDCP NET
E B i = 41 | 45 | 86 | 17 69
MRS B H )R 47 | 44 | 91 21 70
3 fir BT 46 | 47 | 93 23 70
4 fif R [THE 46 | 47 | 93 21 72
5 fir SFE B 44 | 50 | 94 | 22 72
B-G wH = 41 | 45 86
OH #E—HEIM Bk & K
T — I ADE

& Az & 4 OUT | IN |TOTAL| HDCP NET
B B PEREUS 43 | 40 | 83 | 20 63
HER | R ZETF | 4 | 4 82 16 66
3 fir FEX EZ 46 | 49 | 95 28 67
4 fir RI 15 bl 45 | 43 | 88 | 20 68
5 fir BH —FK 41 | 47 88 18 70
B-G | B 28+ | 41 | 4 82
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